

NAMES T.G.E FAVOUR OLUWADAMILOLA
 COURSE MATHEMATICS 104
 DEPT MEDICINE & SURGERY (MBBS)
 MATRIC NO 19/MH501194 Serial no: 186

Assignment

1.) $\int \frac{11-3x}{x^2+2x-3} dx$

Solution

$$\int \frac{11-3x}{x^2+2x-3} dx$$

$$= \frac{11-3x}{(x-1)(x+3)} = \frac{A}{(x-1)} + \frac{B}{(x+3)}$$

$$11-3x = A(x+3) + B(x-1)$$

$f(1)$

$$11-3(1) = A(1+3) + B(1-1)$$

$$8 = A(4) + B(0)$$

$$8 = 4A$$

$$A = 2$$

$f(-3)$

$$11-3(-3) = A(0) + B(-3-1)$$

$$11+9 = -4B$$

$$20 = -4B$$

$$\int \frac{11-3x}{(x-1)(x+3)} = \int \frac{2}{(x-1)} dx - \int \frac{5}{(x+3)} dx$$

$$2 \text{ let } u = (x-1)$$

$$u = (x+3)$$

$$\frac{du}{dx} = 1 \therefore du = dx$$

$$\frac{du}{dx} = 1 \therefore du = dx$$

$$\int \frac{2}{u} du = 2 \int \frac{1}{u} du - \int \frac{5}{u} du$$

$$2 \ln u = 2 \ln(x-1) - 5 \int \frac{1}{u} du$$

$$-5 \ln u$$

$$-5 \ln(x+3)$$

$$= 2 \ln(x-1) - 5 \ln(x+3)$$

$$2. \int \frac{4x-16}{x^2-2x-3} dx$$

Solution

$$\int \frac{4x-16}{x^2-2x-3} = \int \frac{4x-16}{(x+1)(x-3)} = \frac{A}{x+1} + \frac{B}{x-3}$$

$$= \frac{4x-16}{(x+1)(x-3)} = \frac{A}{x+1} + \frac{B}{x-3}$$

$$\int 4x-16 = A(x-3) + B(x+1)$$

f(-1) $4(-1)-16 = A(-4) + B(0)$

$$A = 5$$

for f(3)

$$4(3)-16 = A(0) + B(4)$$

$$12-16 = 4B$$

$$-4 = 4B$$

$$B = -1$$

$$\int \frac{4x-16}{(x+1)(x-3)} = \int \frac{5}{x+1} - \int \frac{1}{x-3}$$

$$= \int \frac{5}{x+1} dx - \int \frac{1}{x-3} dx$$

$$\frac{du}{dx} = 1 \therefore du = dx$$

$$\text{let } u = x-3$$

$$\frac{du}{dx} = 1 \therefore dx = du = dx$$

$$\int \frac{5}{u} du = 5 \ln u$$

$$5 \ln u = 5 \ln(x+1) - \ln(x-3)$$

$$5 \ln(x+1) - \ln(x-3)$$

$$2 \int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = \frac{A}{(x+1)} + \frac{B}{(x-2)} + \frac{C}{(x+3)}$$

$$2x^2 - 9x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)$$

From A(2)

$$2(2)^2 - 9(2) - 35 = 35 = A(0)(5) + B(3)(5) + C(3)(0)$$

$$2(4) - 18 - 35 = 15B$$

$$-45 = 15B$$

$$B = \frac{-45}{15}$$

$$B = -3$$

For C(-1)

$$2(-1)^2 - 9(-1) - 35 = A(-3)(2) + B(0)(2) + C(0)(-3)$$

$$2 + 9 - 35 = -6A$$

$$-24 = -6A$$

$$\therefore A = 4$$

f(-3)

$$2(-3)^2 - 9(-3) - 35 = A(-3-3)(0) + B(-3+1)(0) + C(-2)(-5)$$

$$2(9) + 27 - 35 = 10C$$

$$10 = 10C$$

$$C = 1$$

$$A = 4, B = -3, C = 1$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \int \frac{4}{(x+1)} dx + \int \frac{-3}{(x-2)} dx + \int \frac{1}{(x+3)} dx$$

$$= \int \frac{4}{(x+1)} dx + \int \frac{-3}{(x-2)} dx + \int \frac{1}{(x+3)} dx$$

Let $u = x+1$

$$\frac{du}{dx} = 1$$

$$du = dx$$

Let $u = x-2$

$$\frac{du}{dx} = 1$$

$$du = dx$$

Let $u = x+3$

$$\frac{du}{dx} = 1$$

$$du = dx$$

$$4 \int \frac{1}{u} du$$

$$4 \ln u$$

$$4 \ln(x+1)$$

$$-3 \int \frac{1}{u} du$$

$$-3 \ln u$$

$$-3 \ln(x-2)$$

$$\int \frac{1}{u} dx$$

$$\ln u$$

$$\ln(x+3)$$

$$4 \ln(x+1) - 3 \ln(x-2) + \ln(x+3)$$